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1) ROORLOTID, (2R X108

1) O0—177=263 2) 56+0=111
3) Ox1=5 4) 21+-0=7
5) O0+86=213 6) 10—0=4
7) 3x0O=3 8) O-+7=9

9) O0+510=735 10) 7x0O=49



NTEHADHEBR(EBFEFE
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2) ROOFLKDTEH, (2RX108)

1)  O+444=611 2) 780—0O=579
3) Ox9=81 4) 42+0=7

5) O—95=206 6) 275+0=517
7) O+3=4 8) 6x0O=12

9) O0—315=485 10) 20+0O=4



NTEHADHEBR(EBFEFE
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3) ROOFKNKOTI D, (2R X 108)

1) O—64=98 2)  721+0=900
3) O+4=8 4) 2x0O=14
5)  O+201=413 6) 328—O=145
7) [Ox8=64 8) 72+0=8

9) 0O+6=2 10) 491—0O=283



NTEHADHEBR(EBFEFE
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4) ROOFNKITEH, (2R X10%E)

1)  0O—601=565 2) 89+0O=222
3) 0Ox3=12 4) 18+0O=9

5) 0O+23=61 6) 666—0O=218
7) 0O+9=4 8) 7x0O=21

9) 0Ox8=72 10)  927+0=1212
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5) ZOORFWKDOTI M, (2R X10%E)

1)

3)

5)

7

9)

O0—142=53

O+2=3

O0+81=90

O%x4=36

75+0=163

NTERADHB(HEBERFH

B
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2) 401+0O=513

4) 5x0=40

6) 391—0O=215

10) Ox2=18



NTERADHB(HEBERFH
3F—-12A—48

1) ARE—m@E (2K X10%) A =]

1) 440 2) 55 3) 5 4) 3 5) 127
6) 6 1)) 1 8 63 9) 225 10 7

2) KRE—M@E (2R X108 A B

1) 167 2) 201 3) 9 4 6 5) 301
6) 242 7 12 8) 2 9) 800 10) 5

3) KE—M@E (2R X108 A B

1) 162 2) 179 3 32 4) 7 5 212
6) 183 7 8 8) 9 9 12 10) 208

4) KE—RE (2Rx10%#) A B

1) 1166 2) 133 3) 4 4) 2 5) 38
6) 448 7) 36 8) 3 9 9 10) 285

5) &E—ME (2R X108 A B

1) 195 2) 112  3) 6 4 8 5) 9
6) 176 7 9 8) 8 9) 88 10) 9



